[Participant 1D

Participant
Name

Test Center
Name

Test Date 02/07/2023

Test Time 9:00 AM -12:00 PM

Subject Nursing Officer

Marks Obtained

Q.1

Ans

Q.2

Ans

The normal range of clotting time by capillary tube method is:
& A. 2 to 8 minutes

#5 B.24t048 hours
< C.2to 8 seconds

#< D.12to 18 hours

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680260491
6306801011748
6306801011750
6306801011747
6306801011749
Answered

A

3

To deliver high-quality care in a tertiary hospital, the manpower required is:

75 A. ateam of doctors and staff nurse

#< B. staff nurse and pharmacist

«# C. an interprofessional team of doctor, nurse, pharmacists, occupation therapists and social

workers
#< D. nursing administrator and staff nurse

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

MCQ
630680251589
630680976359
630680976361
630680976362
630680976360
Answered

C

Marks : 3
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Ans

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
63068074493
630680288130
630680288133
630680288131
630680288132
Answered

D

0

riots and undergoes a cholecystectomy and is being discharged after recovery. Since he is

an employee of a private company and the bill will be cleared from the company, the

company is demanding access to his case file. The most appropriate action of the nurse will

be to:

& A. inform the company that the access of the health records can be provided only to his

relatives
< B. refuse access to his health records

¥ C. inform the company to obtain permission from the hospital authorities to provide access

to the health records

< D. provide access to his health records

1 ——
Q.4 Mr. Nanda Kishore Yadav, a 52-year-old, was admitted with a stab injury due to communal

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

MCQ
630680132067
630680511444
630680511442
630680511445
630680511443

Status : Answered
Chosen Option : C
Marks : 3

Q.5 ALL of the following are the primary prevention methods of hypertension EXCEPT:
Ans  «# A early case detection

#< B. dietary sodium restriction
< C. weight reduction

< D. increased physical activity

Question Type : MCQ

Question ID :
Option 11D :
Option2 1D :
Option 31D
Option4 ID :
Status :

Chosen Option :

Marks :

630680260494
6306801011759
6306801011761

: 6306801011760

6306801011762
Answered
A

3
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Question ID : 630680146429
Option 1 ID : 630680566600
Option 2 ID : 630680566598
Option 3 ID : 630680566601
Option 4 ID : 630680566599
Status : Answered
Chosen Option : C
Marks : 3

Q.7 Which of the following Five-Year Plans introduced ‘Target-free approach’ in National family
welfare program?

Ans X A Fifth Five-Year Plan
#< B. Sixth Five-Year Plan
£ C. Seventh Five-Year Plan

«# D. Eighth Five-Year Plan

Question Type : MCQ
Question ID : 630680171121
Option 1 ID : 630680662967
Option 2 ID : 630680662968
Option 3 ID : 630680662969
Option 4 ID : 630680662970
Status : Answered
Chosen Option : B
Marks : O

\

Q.8 During the health educating on anticoagulation therapy for the patient with valve
replacement surgery with a mechanical valve, which of the following statements by the
nurse about the therapeutic level of the drug is correct?

Ans X A. Maintain international normalised ratio of 3.5-4.5
#< B. Maintain international normalised ratio of 1
4 C. Maintain international normalised ratio of 2.5-3

#< D. Maintain international normalised ratio of 1.5-2.5

Question Type : MCQ
Question ID : 63068075393
Option 1 1D : 630680291726
Option 2 ID : 630680291723
Option 3 ID : 630680291725
Option 4 1D : 630680291724
Status : Answered
Chosen Option : A
Marks : O
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Ans

Q.11
Ans

a part of nursing assessment in the nursing process?
«# A. Asking about the previous history of the aggressive behaviour

#5 B. Removing all the sharp instruments from the environment
£ C. Writing nursing diagnosis as ‘Risk for violence’

#< D. Maintaining the environment calm and cool

In rural area plains, one subcentre is established for:
¥ A. 5000 people

#< B. 3000 people
£ C. 10,000 people
#< D. 2000 people

\

Question ID :
Option11D:
Option2ID :
Option 31D :
Option4 1D :
Status :

Chosen Option :

Marks :

63068085375
630680331004
630680331006
630680331007
630680331005
Answered

B

0

Q.10 The nurse is taking care of an aggressive patient. Which of the following nursing actions is

Question Type :
Question ID :
Option 11D :
Option2ID :
Option 31D :
Option4 1D :

Status :

Chosen Option :

MCQ
630680103035
630680400400
630680400401
630680400402
630680400399
Answered
B

Marks: O

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 ID

Status :

Chosen Option :

Marks

MCQ
630680260495

6306801011765
6306801011764
6306801011766

: 6306801011763

Answered
A

03

Page- 4



Ans

Ans

tachydysrhythmias in the early postoperative period?
#< A. Permanent pacing

/< B. Transcutaneous pacing
& C. Transvenous pacing

& D. Epicardial pacing

Q.14 Which of the following is NOT a type of blood cell?

< A. Leukocytes
/< B.Platelets

" C. Plasma

#< D. Erythrocytes

\

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

630680137788
630680533482
630680533483
630680533485
630680533484
Answered

D

3

Q.13 After heart surgery, which type of pacing is used to manage bradydysrhythmias or

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
63068077490
630680300060
630680300057
630680300059
630680300058
Answered

B

0

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
63068081848
630680317426
630680317427
630680317425
630680317424
Answered

C

3

Page- 5




Q.16
Ans

Ans

Queston I © boUboUZL0U495
Option 11D : 6306801011758
Option 2 ID : 6306801011755
Option 3 1D : 6306801011757
Option 4 1D : 6306801011756
Status : Answered
Chosen Option : D
Marks : 3

ALL of the following are barrier methods of contraception EXCEPT:
X A diaphragm

/< B. condom
/5 C.vaginal sponge

«# D. intrauterine device

Question Type : MCQ
Question ID : 630680260492
Option 11D : 6306801011752
Option 2 ID : 6306801011751
Option 3 1D : 6306801011753
Option 4 ID : 6306801011754
Status : Answered
Chosen Option : D
Marks : 3

\

Q.17 Which of the following tests assess higher-level cognitive processes such as attention,

perseverance, abstract thinking, CF and set shifting?
X A. Observation method

#< B. Rorschach ink blot test
£ C. Thematic apperception test

«# D. Wisconsin card sorting test

Question Type : MCQ
Question ID : 63068085337
Option 1 1D : 630680330855
Option 2 ID : 630680330854
Option 3 ID : 630680330853
Option 4 ID : 630680330852
Status : Answered
Chosen Option : D
Marks : 3
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Option 1 1D : 630680315952
Option 2 ID : 630680315955
Option 3 ID : 630680315954
Option 4 ID : 630680315953
Status : Answered
Chosen Option : B
Marks : O

\

Q.19 The nurse reviews the lab report of a patient with schizophrenia, who is taking Clozapine
25mg QD. His report shows a WBC count of 1500 per MCL. Based on the findings, which of
the following orders should the nurse expect from the psychiatrist?

Ans  # A. Discontinue Clozapine
/5 B. Continue with the same dose of Clozapine
< C. Increase the dose of Clozapine

#< D. Decrease the dose of Clozapine

Question Type : MCQ
Question ID : 630680103030
Option 1 ID : 630680400382
Option 2 ID : 630680400381
Option 3 ID : 630680400380
Option 4 ID : 630680400379
Status : Answered
Chosen Option : D
Marks : O

|
Q.20 All of the following are legal guidelines for documentation, EXCEPT:

Ans X A. Begin each entry with date and time and end with your signature
#< B. Do not leave blank space or lines in a written nurses’ progress note
< C. Record all written entries legibly and in black ink

«# D. Always record critical comments about a patient

Question Type : MCQ
Question ID : 630680251588
Option 1 1D : 630680976355
Option 2 ID : 630680976356
Option 3 ID : 630680976358
Option 4 ID : 630680976357
Status : Answered
Chosen Option : B
Marks : O
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Option 1 1D : 630680357653
Option 2 ID : 630680357651
Option 3 ID : 630680357650
Option 4 ID : 630680357652
Status : Answered

Chosen Option : C

Marks : O
Q.22 A hospital utilises many rubber goods such as hot water bags, gloves etc. Care of rubber
goods increases durability. Rubber goods are stored without folding repeatedly to:
ANns  # A. prevent cracks in the rubber goods
X B. prevent from melting due to heat
£ C. reduce the occupying space
#5 D. prevent from infestations
Question Type : MCQ
Question ID : 630680132081
Option 1 ID : 630680511498

Option 2 ID : 630680511500
Option 3 ID : 630680511499
Option 4 ID : 630680511501
Status : Answered
Chosen Option : D

Marks: O
1 1 :
Q23 1f x = = andy = 2 % then x : y : z 1s equal to:
Ans  w# A1:4:16
X B.2:4:16
/K C3:2:16
K D4:2:16
Question Type : MCQ
Question ID : 63068087538
Option 1 1D : 630680339539
Option 2 ID : 630680339540
Option 3 1D : 630680339538
Option 4 1D : 630680339537

Status : Answered
Chosen Option : A
Marks : 3
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Question ID : 63068093614
Option 1 1D : 630680363153
Option 2 ID : 630680363152
Option 3 1D : 630680363154
Option 4 1D : 630680363151
Status : Answered
Chosen Option : C
Marks : 3

\

Q.25 Identify the non-invasive treatment modality which uses MRI-strength magnetic pulses to
stimulate focal areas of the cerebral cortex to treat depression.

Ans " A. Transcranial magnetic stimulation (TMS)
#< B. Deep brain stimulation
#5 C. Vagus nerve stimulation

#5 D. Light therapy

Question Type : MCQ
Question ID : 630680117912
Option 1 ID : 630680456826
Option 2 ID : 630680456827
Option 3 ID : 630680456828
Option 4 ID : 630680456829
Status : Answered
Chosen Option : A
Marks : 3

\

Q.26 Select the most appropriate meaning of the given idiom.

Our English teacher always forbids us from being idle at home and advises us to be up and
doing.
Ans X A Indolent

#< B. Lacklustre
< C. Languid

" D. Lively

Question Type : MCQ
Question ID : 630680134203
Option 1 1D : 630680519693
Option 2 ID : 630680519691
Option 3 ID : 630680519692
Option 4 1D : 630680519690
Status : Answered
Chosen Option : D
Marks : 3
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Question ID :

630680132080

Option 1 1D : 630680511497
Option 2 ID : 630680511495

Option 31D :
Option4 1D :

630680511496
630680511494

Status : Answered
Chosen Option : A
Marks : 3

Q.28 Select the most appropriate option to fill in the blank.
Neither Ramesh nor Sheetal present at the meeting.

Ans X A are
¥ B.was
X C.isbeing
X D.were

Question Type : MCQ
Question ID : 630680157010
Option 1 1D : 630680607592
Option 2 ID : 630680607594
Option 3 1D : 630680607595
Option 4 ID : 630680607593
Status : Answered
Chosen Option : D
Marks : O

\

Q.29 The process of managing several projects, often with the intention of improving an
organisation’s performance, is known as:

Ans X A. project management
< B. transformational leadership
< C. nursing management

" D. program management

Question Type : MCQ
Question ID : 63068081034
Option 1 ID : 630680314163
Option 2 ID : 630680314161
Option 31D : 630680314164
Option 4 ID : 630680314162
Status : Answered
Chosen Option : B
Marks : O
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Ans

Ans

< A. Lucknow
#< B. Hyderabad
#< C. Coonoor

«# D. Mysore

«” A. Soap and water
#< B. Alcohol
#< C. Hydrogen peroxide

7< D.Plain water

\

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
630680103036
630680400405
630680400406
630680400403
630680400404
Answered

D

0

. ______________________________________________________________________________________________________________________________________|
Q.31 Where is Central Food Technology and Research Institute (CFTRI) located?

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
63068093031
630680360818
630680360816
630680360815
630680360817
Answered

B

0

- ————————————— |
Q.32 What is the appropriate solution for cleaning the wound initially?

Question Type :
Question ID :
Option 11D :
Option2 ID :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680135876
630680526212
630680526213
630680526210
630680526211
Answered

D

0
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Option 1 1D : 630680331065
Option 2 ID : 630680331064
Option 3 ID : 630680331066
Option 4 ID : 630680331067
Status : Answered
Chosen Option : B
Marks : 3

\

Q.34 During the learning process, if repeated application of stimulus evokes greater and greater
response, then it is called:

Ans X A priming
/X B. conditioned response
/X C. habituation

&# D. sensitisation

Question Type : MCQ
Question ID : 630680251578
Option 11D : 630680976317
Option 2 ID : 630680976318
Option 3 ID : 630680976316
Option 4 ID : 630680976315
Status : Answered
Chosen Option : D
Marks : 3

\

Q.35 Pipes P and Q can fill a completely empty tank in 54 min and 72 min, respectively, when
opened independently. Pipe R can empty the completely filled tank in 48 min. Initially all the
three pipes P, Q and R, are opened simultaneously. After how much time (in min) pipe R be
closed so that the tank will be completely filled in a total time of 45 min?

Ans X A.36
o B.22
X C.45
< D.29

Question Type : MCQ
Question ID : 630680203553
Option 11D : 630680789411
Option 2 ID : 630680789412
Option 3 ID : 630680789414
Option 4 ID : 630680789413
Status : Answered
Chosen Option : A
Marks : O
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Ans

\

Queston 1 -
Option 11D :
Option 21D :
Option 31D :
Option4 1D
Status :

Chosen Option :

Marks :

boUboUoosY1L

630680331068
630680331071
630680331069

: 630680331070

Answered
B
3

Q.37 A thyroid function test is commonly ordered as a baseline with lithium treatment:

#< A. because thyroid-stimulating hormone interferes with the metabolism of lithium
< B. because lithium decreases the level of thyroid-stimulating hormone
«# C. because lithium increases the level of thyroid-stimulating hormone

#5 D. to confirm that the patient’s mood has improved

\

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680103031
630680400385
630680400384
630680400383
630680400386
Answered

B

0

reasons?

¥ A. Loss of personal freedom and identity
#5 B. Unfamiliar health personnel
#5 C. Hospital routines and investigations

#< D. Increased risk of infection and unsafe environment

|
Q.38 Any newly hospitalised patient exhibits increased anxiety because of which of the following

Question Type :
Question ID :
Option 11D :
Option2ID :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
630680207527
630680804700
630680804702
630680804701
630680804699
Answered

D

0
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Ans

Ans

Ans

K A45
X B.55
& C.60
o# D.50

75 A. metoclopramide
#< B.sulpiride

4 C. bromocriptine
/< D. domperidone

Q.41 The apparatus used to record blood pressure is:

< A.ergometer

«# B. sphygmomanometer
#< C. ergograph

#5 D. thermometer

| Q.39 Ram travelled by car and covered the first 175 km in 4 hours and the next 275 kmin 5
hours. What is his average speed (in km/h) for the entire trip?

\

Question Type : MCQ
Question ID : 630680108906
Option 11D : 630680422516
Option 2 ID : 630680422518
Option 3 ID : 630680422519
Option 4 ID : 630680422517
Status : Answered
Chosen Option : D
Marks : 3

|
Q.40 ALL of the following drugs improve milk production in a mother EXCEPT:

Question Type : MCQ
Question ID : 630680260498

Option 11D : 6306801011775
Option 2 ID : 6306801011777
Option 31D : 6306801011778
Option 4 1D : 6306801011776

Status : Answered
Chosen Option : C
Marks : 3

Question Type : MCQ
Question ID : 630680260508

Option 11D : 6306801011816
Option 2 ID : 6306801011817
Option 3 1D : 6306801011818
Option 4 1D : 6306801011815

Status : Answered
Chosen Option : B
Marks : 3
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Ans

Ans

Q.43 What is the gold standard for the diagnosis of neonatal sepsis?

& A. Complete blood count
/< B. Immature to Total neutrophil count (I/T ratio)
#5 C. Absolute neutrophil count

«# D. Blood culture

< A.income
& B. religion
" C. marital state

#< D. education

Queston 1 .
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :
Marks :

boUboUZo101U
630680976045
630680976043
630680976044
630680976046
Answered

C

3

\

Question Type :
Question ID :
Option 11D :
Option 21D :

: 6306801016462

: 6306801016459

Status :

Chosen Option :

Marks :

Option 3 ID
Option 4 ID

MCQ
630680261701
6306801016461
6306801016460

Answered
B
0

Q.44 The measures of social differentiation include all of the following, EXCEPT:

Question Type :
1630680251585
1 630680976345
1 630680976344
1 630680976346
Option4 1D :
Status :

Chosen Option :
Marks :

Question ID
Option 1 ID
Option 2 ID
Option 3 ID

MCQ

630680976343
Answered

C

3
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Question 1ype :
Question ID :
Option 11D :

VLY
630680251511
630680976047

Option 2 ID : 630680976050
Option 3 ID : 630680976049
Option 4 1D : 630680976048
Status : Answered
Chosen Option : C
Marks : 3

Q.46 One housekeeping lady suddenly got burned while cleaning the toilet with chemical agents.
What should be the first aid management for her?

Ans  # A. Wash the area with plenty of water.
/< B. Immediately cover the area with a piece of clean cloth.
5 C. Apply anti-septic cream.

/5 D. Immediately go to the physician for check-up.

Question Type : MCQ
Question ID : 630680135881
Option 1 ID : 630680526233
Option 2 ID : 630680526230
Option 3 ID : 630680526232
Option 4 ID : 630680526231
Status : Answered
Chosen Option : A
Marks : 3

\

Q.47 HIV post-exposure prophylaxis (PEP) should be started within how many hours after the
persons’ exposure?

Ans X A. 48hours
< B.12hours
" C. 72 hours
#< D. 24 hours

Question Type : MCQ
Question ID : 63068089074
Option 1 1D : 630680345230
Option 2 ID : 630680345228
Option 3 1D : 630680345231
Option 4 ID : 630680345229
Status : Answered
Chosen Option : C
Marks : 3
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Question ID : 63068086701
Option 1 1D : 630680336214
Option 2 ID : 630680336212
Option 3 ID : 630680336213
Option 4 ID : 630680336215
Status : Answered
Chosen Option : C
Marks : 3

Q.49 The Continuous Performance Test is the most common research paradigm used to examine

Ans X A. modes of processing
«# B. sustained attention
#5 C. language dysfunction

& D. selective attention

Question Type : MCQ
Question ID : 630680251575
Option 11D : 630680976306
Option 2 ID : 630680976304
Option 3 ID : 630680976305
Option 4 ID : 630680976303
Status : Answered
Chosen Option : A
Marks : O

Q.50 Thinking in which the thoughts are largely narcissistic and egocentric, with emphasis on
subjectivity rather than objectivity, is called:

Ans X A. automatism
«# B. autistic thinking
5 C. ataxia
/< D. agnosia

Question Type : MCQ
Question ID : 630680251583
Option 11D : 630680976335
Option 2 ID : 630680976337
Option 3 ID : 630680976336
Option 4 ID : 630680976338
Status : Answered
Chosen Option : A
Marks : O
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Ans

| Q.51 A client addicted to alcohol makes a statement to the nurse, “l do not have a problem with

alcohol. | can quit whenever | want.” Which of the following nursing diagnoses is appropriate

for this patient?
X A. Disturbed thought processes

/< B. Disturbed sensory perception
«” C. Ineffective denial

& D. Impaired verbal communication

Question Type :
Question ID :

MCQ
630680103039

Option 11D : 630680400418

Option2 1D :
Option 31D :
Option4 1D :

Status :

630680400417
630680400416
630680400415
Answered

Chosen Option : C
Marks : 3

Q.52 The normal puerperium usually lasts for up to:
Ans X A 8weeks
" B. 6 weeks
25 C. 2 weeks
< D. 4weeks
Question Type : MCQ
Question ID : 630680260496
Option 1 1D : 6306801011770
Option 2 ID : 6306801011769
Option 31D : 6306801011767
Option 4 1D : 6306801011768
Status : Answered
Chosen Option : B
Marks : 3
Q.53 The indicators that suggest that development is seriously disordered in a child include all of
the following, EXCEPT:
Ans X A. persistently low muscle tone or floppiness
#5 B. persistent toe walking
#< C. no speech by 18 months
«# D. climbing stairs with two feet per step by 2 years
Question Type : MCQ
Question ID : 630680251584
Option 1 ID : 630680976340
Option 2 ID : 630680976341
Option 3 ID : 630680976339
Option 4 ID : 630680976342
Status : Answered
Chosen Option : D
Marks : 3
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Option 1 1D : 630680330986
Option 2 ID : 630680330984
Option 3 1D : 630680330987
Option 4 ID : 630680330985
Status : Answered
Chosen Option : A
Marks : O

Q.55 Antigens are usually in nature.
Ans X A fats

«# B. proteins
#< C. disaccharides

5 D. monosaccharides

Question Type : MCQ
Question ID : 630680260490
Option 1 ID : 6306801011745
Option 2 ID : 6306801011743
Option 3 ID : 6306801011746
Option 4 ID : 6306801011744
Status : Answered
Chosen Option : B
Marks : 3

Q.56 Select the most appropriate option to fill in the blank.

Rama got annoyed his brother for being late.
Ans X A on

" B.with
& C.at
< D.by

Question Type : MCQ
Question ID : 63068078674
Option 1 ID : 630680304747
Option 2 ID : 630680304745
Option 3 ID : 630680304746
Option 4 ID : 630680304748
Status : Answered
Chosen Option : D
Marks : O
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/5 D. Father’s mother

Question Type : MCQ
Question ID : 630680251520
Option 1 ID : 630680976084
Option 2 ID : 630680976086
Option 3 ID : 630680976085
Option 4 ID : 630680976083
Status : Answered
Chosen Option : A
Marks : 3

\

Q.58 The best method to assess temperature of a neonate is:

Ans X A by keeping a thermometer in the mouth in a horizontal line with the body so that the tip
of the thermometer faces the tongue

«# B. by keeping a thermometer in the axilla in a horizontal line with the body so that the tip
of the thermometer faces the axilla

< C. by keeping a thermometer in the rectum in a horizontal line with the body

& D. by keeping a thermometer in the eardrum in a horizontal line with the body so that the
tip of the thermometer faces the axilla

Question Type : MCQ
Question ID : 63068079983
Option 1 1D : 630680309958
Option 2 1D : 630680309957
Option 3 1D : 630680309959
Option 4 1D : 630680309960
Status : Answered
Chosen Option : C
Marks : O

\

Q.59 The person who manages both patient care and nursing care in health care services is
called:

Ans  «# A. the Nursing Administrator
#< B. the Nurse Practitioner
#< C. the Nursing Supervisor

< D. the Nurse Educator

Question Type : MCQ
Question ID : 630680251591
Option 11D : 630680976368
Option 2 ID : 630680976370
Option 3 ID : 630680976367
Option 4 1D : 630680976369
Status : Answered
Chosen Option : C
Marks : O

Page- 20




Question 1L - boVOoULoY40U
Option 1 1D : 630680539197
Option 2 ID : 630680539196
Option 3 ID : 630680539195
Option 4 ID : 630680539194
Status : Answered
Chosen Option : B
Marks : O

\

Q.61 Which of the following is the appropriate nursing intervention for the client with suicidal
ideation?

Ans & A. Keeping sharp instruments out of reach of the patient
/< B. Determining the goal that the client will discuss the suicidal idea with the nurse by
discharge

#5 C. Determining whether the interventions provided are adequate to minimise the patient’s
suicidal ideas

#5< D. Forming the nursing diagnosis as ‘Risk for self-directed violence’

Question Type : MCQ
Question ID : 630680103042
Option 1 1D : 630680400427
Option 2 ID : 630680400428
Option 3 ID : 630680400430
Option 4 ID : 630680400429
Status : Answered
Chosen Option : A
Marks : 3

Q.62 The original and first-hand data collected by the researcher is known as:
Ans X A.interview data

#< B. secondary data
«# C.primary data

25 D. tertiary data

Question Type : MCQ
Question ID : 63068092225
Option 1 1D : 630680357633
Option 2 ID : 630680357631
Option 3 ID : 630680357630
Option 4 1D : 630680357632
Status : Answered
Chosen Option : C
Marks : 3
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| Q.63
Ans

Ans

Q.65
Ans

The Benton Visual Recognition Test is used to assess .

X A. executive functioning
«# B. non-verbal memory
5 C. language

& D.verbal memory

to meet the nutritional requirements of infants is known as:
¥ A. complementary feeding

/< B. exclusive breast feeding
#5 C. demand feeding
5 D. substitute feeding

The energy value of foods has long been expressed in terms of:
o A. kilocalorie

< B.joules
5 C.ampere

#< D.newton

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680251581
630680976328
630680976329
630680976330
630680976327
Answered

B

3

Q.64 The process of starting other foods and fluids when breast milk alone is no longer sufficient

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
630680109805
630680425790
630680425793
630680425791
630680425792
Answered

A

3

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D
Option4 1D :

Status :

Chosen Option :

MCQ
630680260502

6306801011791
6306801011792

: 6306801011794

6306801011793
Answered
A

Marks : 3
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Q.67
Ans

Q.68

Ans

Question Type : MCQ
Question ID : 630680132073
Option 1 ID : 630680511467
Option 2 ID : 630680511469
Option 3 ID : 630680511468
Option 4 ID : 630680511466
Status : Answered
Chosen Option : B
Marks : 3

What is the importance of citrate in the WHO oral rehydration solution?
«” A. Increased shelf life

#5 B. Cheaper
< C. Tastier

#< D. Nutritious

Question Type : MCQ
Question ID : 63068089067
Option 1 1D : 630680345203
Option 2 ID : 630680345202
Option 3 ID : 630680345201
Option 4 ID : 630680345200
Status : Answered
Chosen Option : A
Marks : 3

A public health nurse was diagnosed to have HBeAg and HBsAg in the serum. Most likely,
which of the following does she have?

< A Recovery from hepatitis B
«# B. Acute infectious hepatitis B
#5 C. HBV+HBE coinfection

#5 D. Chronic hepatitis

Question Type : MCQ
Question ID : 63068083074
Option 1 1D : 630680322159
Option 2 ID : 630680322158
Option 3 ID : 630680322157
Option 4 ID : 630680322156
Status : Answered
Chosen Option : C
Marks : O
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adulthood is:
Ans X A. Intimacy

& B. Generativity
& C. Identity

" D. Integrity

Ans X A sialorrhoea
#5 B. xerostomia

< C. mumps
«# D.sialolithiasis

\

Queston 1 -
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

Marks :

boUboUZo105Y0
630680976395
630680976398
630680976397
630680976396
Answered

D

3

Q.70 The final stage of development in the expanding social radius of maturing individuals during

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
630680251582
630680976332
630680976333
630680976331
630680976334
Answered

B

0

Q.71 The condition in which stone is formed in the ducts of salivary glands is known as:

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 4 ID

Status :

Chosen Option :

Marks :

MCQ
630680260506

6306801011809
6306801011807
6306801011810

: 6306801011808

Answered
D
3
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Ans

Ans

7< A. complex stain
#< B. impregnation stain
«# C. differential stain

#5 D.simple stain

«# A. cortisol

#< B.insulin

#5 C. growth hormone
#5 D. thyroxine

B “ B A i

Question ID :
: 630680360766

Option1 ID

Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option

63068093018

630680360765
630680360764
630680360763
Answered

:D

Marks: O

l__________________________________________________________________________________________________________________|
Q.73 The type of staining technique that gives different colours to different bacteria is known as:

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

MCQ
63068085156
630680330129
630680330130
630680330131
630680330128
Answered

C

Marks : 3

|
Q.74 The hormone that is mainly responsible for coping and adaptation during acute stress is:

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

MCQ
630680251572
630680976291
630680976292
630680976294
630680976293
Answered

A

Marks : 3
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| Q.75 The most common malpresentation is:
Ans " A breech presentation

< B. transverse lie
#< C. face presentation

#5 D. shoulder presentation

Question Type : MCQ
Question ID : 630680260500
Option 1 ID : 6306801011783
Option 2 ID : 6306801011786
Option 3 1D : 6306801011784
Option 4 ID : 6306801011785
Status : Answered
Chosen Option : A
Marks : 3

Q.76 The normal prothrombin time is:
Ans X A.2-4minutes

< B.4—-8 minutes
¥ C. 1216 seconds

#< D. 12— 16 minutes

Question Type : MCQ
Question ID : 630680251594
Option 1 ID : 630680976379
Option 2 ID : 630680976380
Option 3 ID : 630680976381
Option 4 ID : 630680976382
Status : Answered
Chosen Option : C
Marks : 3

. ______________________________________________________________________________________________________________________|
Q.77 All of the following are functions of fat EXCEPT:

Ans  # A. they are necessary for conversion of carotene to vitamin A
< B. they are concentrated sources of energy
#5 C. they are a major source of energy for the body

#< D. they help in absorption of vitamin D

Question Type : MCQ
Question ID : 63068093022
Option 1 1D : 630680360780
Option 2 ID : 630680360781
Option 3 ID : 630680360782
Option 4 ID : 630680360779
Status : Answered
Chosen Option : C
Marks : O
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Question ID : 630680109801
Option 1 ID : 630680425774
Option 2 ID : 630680425775
Option 3 ID : 630680425777
Option 4 ID : 630680425776
Status : Answered
Chosen Option : A
Marks : O

|
Q.79 Which of the following is an amplifier host in Japanese encephalitis?
Ans X A Monkey

< B. Horse
" C. Pigs
/< D. Dogs

Question Type : MCQ
Question ID : 63068083072
Option 1 1D : 630680322151
Option 2 ID : 630680322148
Option 3 1D : 630680322150
Option 4 ID : 630680322149
Status : Answered
Chosen Option : C
Marks : 3

- ———————————— |
Q.80 What is the probable rate of anterior rotation of occiput if labour progresses uneventfully in
occipito-posterior position?

ANS A 90%

X B. 30%
X c 70%

X D. 50%

Question Type : MCQ
Question ID : 630680135668
Option 1 ID : 630680525393
Option 2 ID : 630680525390
Option 3 ID : 630680525392
Option 4 ID : 630680525391
Status : Answered
Chosen Option : C
Marks : O
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Queston 1D - BoUOoOULO1010
Option 1 1D : 630680976056
Option 2 ID : 630680976058
Option 3 ID : 630680976055
Option 4 ID : 630680976057
Status : Answered
Chosen Option : D
Marks : O

\

Q.82 Intrauterine pressure below 25 mm Hg during contraction is a characteristic feature of;
Ans & A uterine inertia

#5 B. constriction ring
#5 C. spastic lower segment

#< D. incoordinate uterine action

Question Type : MCQ
Question ID : 630680135680
Option 1 1D : 630680525438
Option 2 ID : 630680525441
Option 3 ID : 630680525440
Option 4 ID : 630680525439
Status : Answered
Chosen Option : A
Marks : 3

\

Q.83 A patient with a diabetic foot is about to get discharged from the hospital. Which of the
following comprises effective interdisciplinary discharge planning?

Ans & A.Ensure that the hospital bills are paid by the patient/family members.

/< B. Ensure that all the medication instructions are given to the patient and his family
members.
/< C. Ensure that there is a written order for discharge from the physician/treating team.

& D. Ensure that the nurse educator, dietician and physician provide the right information to
manage his condition.

Question Type : MCQ
Question ID : 630680158340
Option 1 ID : 630680612891
Option 2 ID : 630680612890
Option 3 ID : 630680612889
Option 4 ID : 630680612888
Status : Answered
Chosen Option : C
Marks : O
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Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

B A i

630680260509
6306801011819
6306801011822
6306801011821
6306801011820
Answered

B

3

Q.85 Which of the following is NOT a sign of severe illness in infants?
Ans X A. Difficult breathing

«# B. Mild chest indrawing
#5 C. Fast breathing
#5 D. Inability to breastfeed

\

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680134524
630680520915
630680520916
630680520917
630680520914
Answered

C

0

Q.86 How long should the nurse wait before making further measurements after releasing the
pressure completely in the cuff and estimating the systolic pressure?

Ans " A.60-120 seconds
#< B. 40 seconds
£ C.10-20 seconds

< D. 25-30 seconds

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option4 ID :

Status :

Chosen Option :
Marks :

MCQ
630680137790
630680533493
630680533492
630680533490
630680533491
Answered

D

0
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Ans

Ans

Ans

| Q.87 Allof the following statements related to gastrostomy are correct EXCEPT:

¥ A. parenteral nutrition can be given through gastrostomy
< B. nutrients are sent into the gastrointestinal tract through a feeding tube
£ C.itis the creation of an artificial external opening into the stomach

/5 D. enteral nutrition can be given through gastrostomy

Question Type :

Question ID :
Option11D:
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :
Marks

MCQ
630680140068
630680542138
630680542140
630680542141
630680542139
Answered

A

03

Q.88 The most important function of red blood cell is:

& A to act as anti-parasite and anti-allergen
4 B. to transport oxygen from lungs to the tissues
#5 C. to prevent bleeding by Haemostasis

#< D. to provide first line of defence

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680260487
6306801011734
6306801011731
6306801011733
6306801011732
Answered

B

3

following series.
PPR-4, NRP-12, LTN-39, JVL-103, ?
X A HXH-226
5 B. IXK-224
o C. HXJ-228
2 D. HXL-220

l__________________________________________________________________________________________________________________|
Q.89 Select the term from among the given options that can replace the question mark (?) in the

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
630680251516
630680976070
630680976068
630680976069
630680976067
Answered

C

3
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Ans

Ans

nursing?
¥ A. Therapeutic communication
& B. Cost effective approach
/5 C. High tech high touch approach

#< D. Comprehensive care approach

Q.92 The major mineral element of the body is:

< A iron
#5 B.sodium
< C. potassium

4" D. calcium

\

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :
Status :

Chosen Option
Marks

630680136833
630680529936
630680529935
630680529934
630680529937
Answered

:B

03

Q.91 Which of the following approaches emphasises the importance of human relations in

Question Type :
Question ID :
Option 11D :
Option2ID :
Option 31D :
Option4 1D :

Status :

MCQ
630680133376
630680516481
630680516478
630680516480
630680516479
Answered

Chosen Option : A
Marks : 3

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680260503
6306801011795
6306801011796
6306801011797
6306801011798
Answered

D

3
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Question 1L - boVooUZouou4
Option 11D : 6306801011801
Option 2 ID : 6306801011802
Option 3 1D : 6306801011800
Option 4 1D : 6306801011799
Status : Answered
Chosen Option : B
Marks : O

\

Q.94 Which of the following options is equal to (53 X 5710 x 5720 x 51l x 516)2009
Ans X A 25
X B0

& C 1
K D5

Question Type : MCQ
Question ID : 63068094388
Option 1 1D : 630680366250
Option 2 ID : 630680366247
Option 3 ID : 630680366248
Option 4 ID : 630680366249
Status : Answered
Chosen Option : B
Marks : O

\ J

Q.95 The nurse teaches a student nurse to keep in mind the following points while monitoring
blood pressure. Which of the following is miscommunicated to the student?

Ans X A.The patient is asked not to talk during measurements.
#< B. The cuff bladder should be centred over the brachial artery.

«” C. Initial recordings are made on both arms, and subsequent measurements are taken on
the arm with the lower pressure.

< D. The cuff bladder width should be at least 40% and length at least 80% of limb
circumference.

Question Type : MCQ
Question ID : 630680102999
Option 1 ID : 630680400256
Option 2 ID : 630680400257
Option 3 ID : 630680400258
Option 4 ID : 630680400255
Status : Answered
Chosen Option : D
Marks : O
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Ans

Ans

Queston I - boUboU 155004
Option 1 1D : 630680525455
Option 2 ID : 630680525454
Option 3 ID : 630680525456
Option 4 ID : 630680525457
Status : Answered
Chosen Option : B
Marks : 3

Q.97 Which of the following is NOT a basic strategy for health promotion?

& A Mediating
/< B. Advocacy
#5 C. Enabling
«# D. Forcing

Question Type : MCQ
Question ID : 63068076587
Option 1 1D : 630680296446
Option 2 ID : 630680296448
Option 3 ID : 630680296445
Option 4 ID : 630680296447
Status : Answered
Chosen Option : D
Marks : 3

hand lotions?
¥ A. Pseudomonas

#5 B. Staphylococci
5 C.Ecoli

#< D. Streptococci

l__________________________________________________________________________________________________________________|
Q.98 Which of the following organisms is an obvious source of hospital infection that grows in

Question Type : MCQ
Question ID : 630680116465
Option 11D : 630680451156
Option 2 ID : 630680451154
Option 3 ID : 630680451157
Option 4 1D : 630680451155
Status : Answered
Chosen Option : A
Marks : 3
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of missed period is called .
Ans X A. menstrual induction

% B. induced abortion
25 C. menstrual extraction

" D. menstrual regulation

\

Option 1 1D : 630680461901
Option 2 ID : 630680461899
Option 3 ID : 630680461900
Option 4 ID : 630680461898
Status : Answered
Chosen Option : C
Marks : O

Q.100 A family planning procedure where aspiration of uterine contents is done within 6-14 days

Question Type : MCQ
Question ID : 630680207525
Option 11D : 630680804693
Option 2 ID : 630680804694
Option 3 ID : 630680804691
Option 4 ID : 630680804692
Status : Answered
Chosen Option : C
Marks : O

darkened area at the insertion site)?
Ans X A. Infusing an antidote

«# B. Stop the infusion
< C. Remove the IV line

X D. Elevate the extremity

Q.101 What is the first nursing action to be taken when infiltration or extravasation is observed
(signs include erythema, pain, oedema, blanching, streaking on the skin along the vein, and

Question Type : MCQ
Question ID : 63068080017
Option 1 1D : 630680310095
Option 2 ID : 630680310093
Option 3 1D : 630680310096
Option 4 ID : 630680310094
Status : Answered
Chosen Option : B
Marks : 3
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Ans

Ans

Q.103 ALL of the following are fat soluble vitamins EXCEPT:

¥ A. vitamin B12
#< B.vitamin D
#5 C.vitamin A

< D.vitamin K

< A. Food frequency questionnaire
X B. Checking level of nutrients in a person’s blood
4 C. Asking a client about symptoms of deficiency

< D.MUAC

Queston 1 .
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :
Marks :

jelolVielelVERVILIVL o)
630680400432
630680400431
630680400433
630680400434
Answered

B

3

\

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680260501
6306801011788
6306801011789
6306801011787
6306801011790
Answered

A

3

Q.104 Which of the following is an example of a clinical assessment of nutritional status?

Question Type :
Question ID :
1630680414715
1630680414713
1630680414714
Option4 1D :
Status :

Chosen Option :
Marks :

Option 1 ID
Option 2 ID
Option 3 ID

MCQ
630680106774

630680414712
Answered

D

0
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Ans

\

Queston 1 -
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

Marks :

boUboUlsso /1
630680516485
630680516482
630680516483
630680516484
Answered

C

3

Q.106 The nurse is caring for a patient with a suicidal attempt. Which of the following nursing

actions is a part of outcome identification in the nursing process?

#< A. Getting a short-term contract from the patient that he/she will seek help from the
nurse whenever he/she has suicidal thoughts

#5 B. Preparing a safe environment for the patient
4 C. Forming a goal: The patient will not harm self during hospitalisation

#5 D. Collecting the family history of the patient

Question Type :
Question ID :
Option 11D :
Option2ID :
Option 31D :
Option4 1D :

Status :

MCQ
630680103040
630680400422
630680400420
630680400421
630680400419
Answered

Chosen Option : B
Marks : O

Q.107 A swelling over the scalp which is present at birth or just after birth in case of vaginal
delivery is known as:

Ans & A. encephalocele
#< B. meningocele
«# C. caput succedaneum

#< D. hydrocephalus

Question Type : MCQ
Question ID : 630680260511
Option 1 1D : 6306801011827
Option 2 ID : 6306801011828
Option 3 ID : 6306801011830
Option 4 ID : 6306801011829
Status : Answered
Chosen Option : C
Marks : 3
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Question Type :
Question ID :
Option 11D :

MCQ
630680158341
630680612895

Option 2 ID : 630680612892
Option 3 ID : 630680612893
Option 4 ID : 630680612894
Status : Answered
Chosen Option : A
Marks : 3

Q.109 For a women presenting with occipito-posterior position, vaginal examination is performed
on rupture of the membrane with an unengaged foetal head to rule out:

Ans X A placenta previa
+# B. cord prolapse
< C. cervical effacement

& D. adequacy of pelvis for childbirth

Question Type : MCQ
Question ID : 630680135670
Option 11D : 630680525401
Option 2 ID : 630680525398
Option 3 ID : 630680525400
Option 4 1D : 630680525399
Status : Answered
Chosen Option : B
Marks : 3

\

Q.110 The stage that begins with full dilation of cervix and ends with expulsion of the foetus is:
Ans X A. third stage

< B.firststage
#< C. fourth stage

4 D. second stage

Question Type : MCQ
Question ID : 630680260497
Option 11D : 6306801011773
Option 2 ID : 6306801011771
Option 3 ID : 6306801011774
Option 4 1D : 6306801011772
Status : Answered
Chosen Option : D
Marks : 3
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| Q.111 The two important diagnostic criteria of pre-eclampsia is:
ANns  «# A. hypertension and proteinuria

< B. hypertension and increased cholesterol level
£ C. oedema and increased blood urea level

#5 D. hypertension and increased blood glucose level

Q.112 Which of the following is the traditional site for IM injection?
Ans  # A. Dorsogluteal

#5 B. Deltoid
#5 C. Vastus lateralis

#< D. Ventrogluteal

synchronised with the ECG on a cardiac monitor.
Ans  «* A. QRS Complex

& B. T wave
5 C.PRinterval
< D.Pwave

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680260499
6306801011779
6306801011782
6306801011781
6306801011780
Answered

A

3

\

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

:0

Marks

MCQ
630680132796
630680514265
630680514262
630680514263
630680514264
Answered

D

Q.113 In cardioversion, the electrical impulse discharges at by the defibrillator which is

Question Type :
Question ID :
Option 11D :
Option2 1D :

: 630680300062

Option 3 ID

Option4 1D :
Status :

Chosen Option :
:0

Marks

MCQ
63068077491

630680300063
630680300064

630680300061
Answered
C
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Question 1L - boVUOOULO 1090
Option 1 1D : 630680976386
Option 2 ID : 630680976385
Option 3 ID : 630680976384
Option4 ID : 630680976383
Status : Answered
Chosen Option : C
Marks : 3

\ J

Q.115 As per Article 151 (2) of the Constitution of India, ‘reports of the Comptroller and Auditor-
General of India relating to the accounts of a State shall be submitted to the , who shall
cause them to be laid before the Legislature of the State’.

Ans X A. President of the Union
#< B. Chairman of the State Legislative Council
«# C. Governor of the State

#5 D. Chief Minister of the State

Question Type : MCQ
Question ID : 630680251515
Option 11D : 630680976066
Option 2 ID : 630680976064
Option 3 ID : 630680976065
Option 4 1D : 630680976063
Status : Answered
Chosen Option : B
Marks : O

\ J

|
Q.116 In an emergency situation of injury, which of the following types of care is applicable?
Ans X A. Tertiary care

#< B. Primary care
¥ C. Immediate care

#< D. Secondary care

Question Type : MCQ
Question ID : 630680135866
Option 1 1D : 630680526173
Option 2 1D : 630680526171
Option 3 ID : 630680526170
Option 4 ID : 630680526172
Status : Answered
Chosen Option : C
Marks : 3
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Question ID : 63068074511
Option 1 1D : 630680288204
Option 2 ID : 630680288205
Option 3 ID : 630680288202
Option 4 1D : 630680288203
Status : Answered
Chosen Option : D
Marks : 3

\ J

|
Q.118 A registered midwife certified by INC usually provides

Ans X A.direct patient care, and educates, consults and conducts research
#5 B. health care to a group of patients in an outpatient or community based setting
«# C. care to the mother during prepartum, intrapartum and postpartum periods

#5 D. specialised care to the victims of trauma

Question Type : MCQ
Question ID : 630680251592
Option 1 1D : 630680976372
Option 2 ID : 630680976371
Option 3 1D : 630680976373
Option 4 ID : 630680976374
Status : Answered
Chosen Option : A
Marks : O

\ J

Q.119 A nurse checks the blood pressure of an adult client admitted into the emergency room.
Which of the findings would be a cause for concern and has to be reported immediately?

Ans X A A systolic pressure of 130 mm Hg

< B. Adiastolic pressure of 90 mm Hg
< C. Adiastolic pressure of 78 mm Hg

" D. A systolic pressure of 90 mm Hg

Question Type : MCQ
Question ID : 630680137789
Option 1 ID : 630680533486
Option 2 ID : 630680533488
Option 3 ID : 630680533489
Option 4 ID : 630680533487
Status : Answered
Chosen Option : D
Marks : 3
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Q.121 Which of the following is the most reliable pulse in infants?
Ans X A. Carotid pulse

#5 B. Dorsalis pedis pulse
" C. Apical pulse
/< D. Radial pulse

Ans X A. Script theory
/5 B. Piaget’s theory
#5 C. Kohlberg’s theory

«” D. Vygotsky’s theory

Queston 1 -
Option 11D :
Option 21D :
Option 31D :
Option4 1D :
Status :

Chosen Option :

Marks

boUboU M990/
630680309974
630680309975
630680309976
630680309973
Answered

C

03

\

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :

: 630680360948

Status :

Chosen Option :

Option 4 ID

MCQ
63068093064
630680360949
630680360950
630680360947

Answered
C

Marks : 3

Q.122 The theory that views intelligence as mostly a culturally specific cognitive process is:

Question Type :
Question ID :
Option 11D :
Option2 1D :

: 630680976311

Option 31D

Option4 1D :
Status :
Chosen Option :

MCQ

630680251577
630680976314
630680976312

630680976313
Answered
D

Marks : 3
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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

MCQ
630680103037
630680400408
630680400409
630680400410
630680400407
Answered

Chosen Option : A
Marks : 3

Q.124 While choosing interventions in a nursing care plan, the most important factor to be
considered is:

Ans X A. the capability of the nurse
X B. the feasibility of doing the interventions
o C. the desired patient outcome

X D. acceptability to the patient

\

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680251593
630680976378
630680976375
630680976376
630680976377
Answered

C

3

Q.125 Which of the following is the leading cause of blindness in the Indian population?
Ans X A Glaucoma

X B.Refractive error
¥ C. Cataract

#< D. Corneal pathologies

Question Type :

MCQ

63068081011
630680314070
630680314069
630680314071
Option 4 ID : 630680314072
Status : Answered
Chosen Option : C
Marks : 3

Question ID :
Option 11D :
Option2 1D :
Option 31D :
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Ans

Ans

< A. encephalitis
& B. conjunctivitis, otitis media and mouth ulcers
#5 C. pneumonia

#< D. laryngotracheitis

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
630680132069
630680511450
630680511453
630680511452
630680511451
Answered

D

3

l__________________________________________________________________________________________________________________|
Q.127 Non-fatal complications of measles include:

\

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680134526
630680520924
630680520922
630680520925
630680520923
Answered

B

3

for hypersensitivity reaction. Which of the following ethical terms best describes this act?

< A. Beneficence
+# B. Nonmaleficence
#< C. Justice

#< D. Autonomy

. ______________________________________________________________________________________________________________________________________|
Q.128 A nurse injects a small amount of an antibiotic intra-dermally/subcutaneously and observes

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
63068080819
630680313302
630680313304
630680313303
630680313301
Answered

B

3
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Option 1 1D : 630680330136
Option 2 ID : 630680330138
Option 3 1D : 630680330137
Option 4 1D : 630680330139
Status : Answered
Chosen Option : A
Marks : O

\

Q.130 Which of the following is the most effective way to control the transmission of an infectious
agent?

Ans X A. Taking vaccination for all pathogens
/< B. Practising isolation precautions
¥ C. Practising meticulous hand hygiene

/5 D. Identifying the infectious agent

Question Type : MCQ
Question ID : 630680158333
Option 1 ID : 630680612860
Option 2 ID : 630680612863
Option 3 ID : 630680612862
Option 4 ID : 630680612861
Status : Answered
Chosen Option : C
Marks : 3

\

Q.131 The components of attention traditionally used to describe cognitive deficits include all of
the following, EXCEPT:

Ans X A selectivity
" B. memory
#5 C. capacity

#< D. sustained concentration

Question Type : MCQ
Question ID : 630680251574
Option 1 ID : 630680976299
Option 2 ID : 630680976302
Option 3 ID : 630680976300
Option 4 ID : 630680976301
Status : Answered
Chosen Option : C
Marks : O
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Option 1 ID : 630680804486
Option 2 ID : 630680804485
Option 3 1D : 630680804483
Option 4 ID : 630680804484
Status : Answered
Chosen Option : C
Marks : 3

\ J

Q.133 In which of the following teaching methods, one teacher presents the new material to the
students while the other teacher constructs a concept map on the overhead projector as the
students listen to the presenting teacher?

Ans  # A. Team teaching
/5 B. Concept map
< C. Demonstration

< D. Symposium

Question Type : MCQ
Question ID : 63068085397
Option 1 1D : 630680331093
Option 2 ID : 630680331094
Option 3 1D : 630680331092
Option 4 ID : 630680331095
Status : Answered
Chosen Option : A
Marks : 3

l__________________________________________________________________________________________________________________|

Q.134 A nurse collects blood samples at the time of admission and sends to the laboratory for
testing as per the prescription of the physician. The patient is interested to know the tests
that will be done with the blood collected. The nurse’s appropriate action will be:

Ans " A to inform about all the blood investigations

#< B. to tell only about the special investigations and hide the routine investigations
< C. to not inform about any of the blood investigations

#5 D. to tell only about the routine investigations and hide the special investigations

Question Type : MCQ
Question ID : 630680139118
Option 1 1D : 630680538585
Option 2 ID : 630680538584
Option 3 ID : 630680538582
Option 4 ID : 630680538583
Status : Answered
Chosen Option : A
Marks : 3
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Q.135 Triad symptoms of depression include:
Ans X A suicidal ideas, hopelessness and decreased appetite

X B. worthlessness, disturbed sleep and delusions
o C. pervasive sadness, anhedonia and decreased psychomotor activity

% D. monotonous voice, preoccupations and poor memory

Question Type : MCQ
Question ID : 630680117903
Option 11D : 630680456790
Option 2 ID : 630680456792
Option 3 ID : 630680456791
Option 4 ID : 630680456793
Status : Answered
Chosen Option : C
Marks : 3

\

Q.136 The desirable level of total cholesterol, LDL and triglyceride levels is less than
and , respectively.

Ans o A 200,130, 150

/5 B. 270,200, 220
< C. 250, 180, 200
/< D. 300, 230, 250

Question Type : MCQ
Question ID : 63068092121
Option 1 ID : 630680357216
Option 2 ID : 630680357217
Option 3 1D : 630680357215
Option 4 ID : 630680357214
Status : Answered
Chosen Option : A
Marks : 3

\

Q.137 The process by which a non-governmental or private body evaluates the quality of a higher
education institution as a whole or of a specific educational programme, in order to formally
recognise it as having met certain pre-determined minimal criteria or standards is known as

Ans X A Standardisation
< B. licensure
< C. registration

& D. accreditation

Question Type : MCQ
Question ID : 63068086703
Option 1 1D : 630680336222
Option 2 ID : 630680336221
Option 3 1D : 630680336223
Option 4 ID : 630680336220
Status : Answered
Chosen Option : A
Marks : O
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Question ID : 630680251580
Option 1 ID : 630680976325
Option 2 ID : 630680976323
Option 3 ID : 630680976324
Option 4 ID : 630680976326
Status : Answered
Chosen Option : A

Marks : 3
- |
Q.139 Learning through conditioned stimulus is called:
Ans  «# A. Pavlovian learning
& B.operant learning
#5 C. motivational learning
< D. punishment learning
Question Type : MCQ
Question ID : 630680251579
Option 1 1D : 630680976320
Option 2 1D : 630680976319
Option 31D : 630680976321
Option 4 1D : 630680976322
Status : Answered
Chosen Option : B
Marks : O
Q.140 While assessing a puerperal woman, a midwife observes pain in the calf muscles on
dorsiflexion of the foot. Which of the following signs is the midwife eliciting?
Ans X A.Linton’s sign
#< B. Neuhof’s sign
+# C. Homan’s sign
< D. Moses sign
Question Type : MCQ
Question ID : 630680105461
Option 11D : 630680409914
Option 2 ID : 630680409913
Option 3 ID : 630680409912
Option 4 ID : 630680409911
Status : Answered
Chosen Option : C
Marks : 3
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Question ID : 630680158330
Option 1 ID : 630680612849
Option 2 ID : 630680612850
Option 31D : 630680612848
Option 4 ID : 630680612851
Status : Answered
Chosen Option : A
Marks : 3

|
Q.142 In case of emergency wound bandaging, the knot should be _

Ans & A over the wound
& B. on the right side of the wound
#5 C. below the wound

< D. away from the wound

Question Type : MCQ
Question ID : 630680135870
Option 1 ID : 630680526186
Option 2 ID : 630680526188
Option 3 1D : 630680526187
Option 4 1D : 630680526189
Status : Answered
Chosen Option : D
Marks : O

\

Q.143 Which of the following clinical assessment findings gives the nurse a clue about the risk of
cephalopelvic disproportion in a woman?

Ans X A Primigravidae

#< B. Twin gestation
25 C. Obesity

«# D. Shortstature

Question Type : MCQ
Question ID : 63068081493
Option 1 ID : 630680316007
Option 2 ID : 630680316006
Option 3 1D : 630680316005
Option 4 1D : 630680316004
Status : Answered
Chosen Option : D
Marks : 3
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Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
630680251517
630680976073
630680976072
630680976074
630680976071
Answered

B

3

Q.145 Inthe mode of mechanical ventilation, mechanical breaths are

the patient's spontaneous inspiratory efforts.

Ans X A. assist control ventilation
#5 B. controlled mandatory ventilation
#< C. supported ventilation

«# D. synchronised intermittent mandatory ventilation

delivered at a preset frequency, but the machine tries to deliver these breaths in response to

\

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
63068080018
630680310098
630680310100
630680310097
630680310099
Answered

B

0

Q.146 The acid-base disorder that occurs due to hyperventilation at high altitude is:

Ans " A respiratory alkalosis
#< B.respiratory acidosis
#5 C. metabolic acidosis

/< D. metabolic alkalosis

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks

MCQ
630680260507
6306801011814
6306801011813
6306801011811
6306801011812
Answered

A

13
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Queston 1D : boUboUZ0oVU409
Option 11D : 6306801011741
Option 2 ID : 6306801011740
Option 31D : 6306801011739
Option 4 ID : 6306801011742
Status : Answered
Chosen Option : A
Marks : 3

Q.148 Select the most appropriate meaning of the underlined proverb in the following sentence.

Ans

The local tourist guide kept arguing with the historian throughout the journey. It is ultimately

the empty vessels that make much noise.

< A People who enquire into other’s work fail miserably in life.
X B. People must always be careful instead of showing bravery to others.
#5 C. A person’s character can be judged by his/her outer appearance.

4 D. People with least knowledge often speak the loudest.

\.

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option4 1D :

Status :

MCQ
630680134129
630680519411
630680519412
630680519410
630680519413
Answered

Chosen Option : D

Marks

03

Q.149 If 2 is added to each even digit and 1 is subtracted from each odd digit in the number given
below, what will be the product of digits which are second from the left and third from the

Ans

rightin the new number thus formed?

(Left) 49726536 (Right)
X A6
o B.32
X C.48
X D.64

Question Type :
Question ID :
Option 11D :
Option2 ID :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680251519
630680976082
630680976079
630680976081
630680976080
Answered

B

3

Page- 50



- 2

Question ID : 630680162846
Option 1 ID : 630680630643
Option 2 ID : 630680630640
Option 3 ID : 630680630642
Option 4 ID : 630680630641
Status : Answered
Chosen Option : D
Marks : O

\ J

|
Q.151 ALL of the following are examples for parenteral route of drug administration EXCEPT:

Ans  «# A.sublingual

& B.intramuscular
#5 C. intravenous

#< D. subcutaneous

Question Type : MCQ
Question ID : 630680260510
Option 11D : 6306801011826
Option 2 ID : 6306801011825
Option 31D : 6306801011824
Option 4 1D : 6306801011823
Status : Answered
Chosen Option : A
Marks : 3

\ J

Q.152 The disorder in which the symptoms of schizophrenia and mood disorders are prominently
present within the same episode is known as:

Ans & A.induced delusional disorders
#< B. persistent delusional disorders
#< C. acute and transient psychotic disorders

«# D. schizoaffective disorder

Question Type : MCQ
Question ID : 63068092197
Option 1 ID : 630680357520
Option 2 ID : 630680357518
Option 3 1D : 630680357519
Option 4 ID : 630680357521
Status : Answered
Chosen Option : C
Marks : O
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Option 1 1D : 630680400390
Option 2 ID : 630680400388
Option 3 ID : 630680400389
Option 4 ID : 630680400387
Status : Answered
Chosen Option : C
Marks : O
-
Q.154 An in-depth study of a particular research problem rather than a sweeping statistical survey,
which is useful when not much is known about a phenomenon is called:
Ans X A experimental design
#5 B. time series design
5 C. quasi-experimental design
«” D. case study design
Question Type : MCQ
Question ID : 63068092248
Option 1 1D : 630680357724
Option 2 ID : 630680357723
Option 3 1D : 630680357725
Option 4 ID : 630680357722
Status : Answered
Chosen Option : C
Marks : O
Q.155 In 1919, Gandhiji gave a call for satyagraha against the that the British had just
passed.
Ans X A. Indian Press Act
«” B. Rowlatt Act
#5 C. Indian Councils Act
25 D. Government of India Act
Question Type : MCQ
Question ID : 630680251509
Option 1 ID : 630680976039
Option 2 ID : 630680976040
Option 3 ID : 630680976041
Option 4 ID : 630680976042
Status : Answered
Chosen Option : B
Marks : 3

- 2

Question ID :

630680103032

Page- 52




Question Type : MCQ
Question ID : 630680147344
Option 1 ID : 630680570166
Option 2 ID : 630680570169
Option 3 ID : 630680570167
Option 4 ID : 630680570168
Status : Answered
Chosen Option : B
Marks : 3

\

Q.157 As per the Census of India 2011, sex ratio in the country has per thousand males in
2001 to 943 females per thousand males in 2011.

Ans X A.increased from 856 females
#< B. decreased from 973 females
«# C. increased from 933 females

< D. decreased from 1084 females

Question Type : MCQ
Question ID : 630680251514
Option 1 ID : 630680976060
Option 2 ID : 630680976062
Option 3 ID : 630680976059
Option 4 ID : 630680976061
Status : Answered
Chosen Option : A
Marks : O

Q.158 Prophylactic administration of vitamin A in a child is an example of:
Ans X A rehabilitation

«# B. specific protection
X C. treatment

#< D. health promotion

Question Type : MCQ
Question ID : 63068083088
Option 1 1D : 630680322215
Option 2 ID : 630680322213
Option 3 1D : 630680322214
Option 4 ID : 630680322212
Status : Answered
Chosen Option : B
Marks : 3
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Ans X A spot map
/& B. pie diagram
< C.linegraph
«# D.ogive

Question Type : MCQ
Question ID : 630680119203
Option 1 1D : 630680461909
Option 2 ID : 630680461908
Option 3 1D : 630680461906
Option 4 ID : 630680461907
Status : Answered
Chosen Option : C
Marks : O

\

|
Q.160 In a diabetic woman, the presence of ketone bodies in urine with kussmaul breathing is
suggestive of:

Ans " A. diabetic ketoacidosis

#< B.respiratory acidosis
7% C. metabolic alkalosis

#< D. hyperosmolar coma

Question Type : MCQ
Question ID : 630680260505
Option 1 1D : 6306801011803
Option 2 1D : 6306801011806
Option 3 1D : 6306801011805
Option 4 1D : 6306801011804
Status : Answered
Chosen Option : A
Marks : 3

Q.161 Quality documentation has all of the following characteristics, EXCEPT:
Ans X A. sticking to the facts

#< B. complete information within a recorded entry
#5 C. timely entries on the patient’s ongoing care

«# D. recording not only objective information, but also subjective information by the nurse

Question Type : MCQ
Question ID : 630680251590
Option 1 1D : 630680976363
Option 2 ID : 630680976364
Option 3 1D : 630680976365
Option 4 ID : 630680976366
Status : Answered
Chosen Option : C
Marks : O
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Question Type : MCQ
Question ID : 630680251512
Option 11D : 630680976053
Option 2 ID : 630680976052
Option 3 ID : 630680976054
Option 4 ID : 630680976051
Status : Answered
Chosen Option : A
Marks : O

Q.163 Which type of bilirubin is increased in obstructive jaundice?
Ans X A. Bilirubin digalacturonide

< B. Unconjugated bilirubin
#5< C. Indirect bilirubin

«# D. Direct bilirubin

Question Type : MCQ
Question ID : 63068093641
Option 1 ID : 630680363261
Option 2 ID : 630680363262
Option 3 ID : 630680363260
Option 4 1D : 630680363259
Status : Answered
Chosen Option : B
Marks : O

\

Q.164 As per Haj Policy 2023, out of the total number of ‘Haj’ seats allocated to the Government of
India, will be allocated to the Haj Committee of India.

Ans X A 50%
< B.60%
X C.20%
«" D.80%

Question Type : MCQ
Question ID : 630680251507
Option 1 ID : 630680976033
Option 2 ID : 630680976032
Option 3 ID : 630680976034
Option 4 ID : 630680976031
Status : Answered
Chosen Option : A
Marks : O
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Question ID : 630680207474
Option 1 ID : 630680804488
Option 2 ID : 630680804489
Option 3 ID : 630680804490
Option 4 ID : 630680804487
Status : Answered
Chosen Option : B
Marks : 3

\

Q.166 Mrs. Mamata Das, a 38-year-old female, is admitted to the hospital with a history of RTA
and multiple fractures. This type of admission is referred to as:

Ans & A emergency admission
#5 B. long term admission
#5 C. therapeutic admission

5 D. diagnostic admission

Question Type : MCQ
Question ID : 630680132058
Option 11D : 630680511407
Option 2 ID : 630680511408
Option 3 ID : 630680511409
Option 4 ID : 630680511406
Status : Answered
Chosen Option : A
Marks : 3

\

Q.167 The theory that focusses primarily on logical deductive reasoning with little attention to
social intelligence and emotional intelligence is:

Ans X A. Script theory
/< B. Kohlberg’s theory
5 C. Vygotsky’s theory
«# D. Piaget’s theory

Question Type : MCQ
Question ID : 630680251576
Option 1 ID : 630680976310
Option 2 ID : 630680976307
Option 3 ID : 630680976309
Option 4 ID : 630680976308
Status : Answered
Chosen Option : C
Marks : O
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the child’'s head. What response from the child is considered as normal?

Ans X A Hearing sound in the right ear
#< B. Hearing no sound in both the ears
4# C. Hearing sound equally in both the ears

#< D. Hearing sound in the left ear

Question Type : MCQ
Question ID : 630680147345
Option 1 ID : 630680570172
Option 2 ID : 630680570173
Option 3 ID : 630680570170
Option 4 ID : 630680570171
Status : Answered
Chosen Option : C
Marks : 3

\

Q.169 As per the ESI scheme, the contributions of the employer and employee for financial
support are and__ of the wages, respectively.

Ans X A.2% and 3%
< B.3% and 2%
o C. 4.75% and 1.75%

X D.1.75% and 4.75 %

Question Type : MCQ
Question ID : 630680251587
Option 1 ID : 630680976353
Option 2 ID : 630680976354
Option 3 ID : 630680976351
Option 4 ID : 630680976352
Status : Answered
Chosen Option : C
Marks : 3

\.

Q.170 The premonitory stage of postpartum eclampsia can be recognised by all of the following
features, EXCEPT

Ans X A. eye balls roll and become fixed
< B. twitching of muscles of face, tongue and limbs
4 C. the tongue protrudes between the teeth

#< D. the patient becomes unconscious

Question Type : MCQ
Question ID : 630680105456
Option 1 ID : 630680409894
Option 2 ID : 630680409893
Option 3 ID : 630680409892
Option 4 ID : 630680409891
Status : Answered
Chosen Option : B
Marks : O
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Ans X A afoetus
/< B.atoddler
< C.an adult

«# D.anew-born

Question Type : MCQ
Question ID : 630680260512
Option 1 ID : 6306801011831
Option 2 ID : 6306801011833
Option 3 1D : 6306801011834
Option 4 1D : 6306801011832
Status : Answered
Chosen Option : D
Marks : 3

Q.172 Where does the absorption of calcium take place?
Ans X A. lleum

5 B. Jejunum
5 C. Antrum of stomach

%" D. Duodenum

Question Type : MCQ
Question ID : 63068093026
Option 1 ID : 630680360798
Option 2 ID : 630680360797
Option 3 ID : 630680360795
Option 4 ID : 630680360796
Status : Answered
Chosen Option : A
Marks : O

\

Q.173 Which two numbers should be interchanged to make the following equation correct?
14 x12-8+28+4=107
Ans X A.8and4
< B.14and8
5 C.12and 28
" D.12and8

Question Type : MCQ
Question ID : 630680251521
Option 1 ID : 630680976088
Option 2 ID : 630680976087
Option 3 ID : 630680976090
Option 4 ID : 630680976089
Status : Answered
Chosen Option : D
Marks : 3
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Option 11D : 6306801011735
Option 2 ID : 6306801011738
Option 3 1D : 6306801011736
Option 4 ID : 6306801011737
Status : Answered
Chosen Option : D
Marks : O

. ______________________________________________________________________________________________________________________________________|
Q.175 The basic unit in all societies is:

Ans & A Family
/< B.Caste
< C. Religion
< D. Income

Question Type : MCQ
Question ID : 630680251586
Option 1 ID : 630680976347
Option 2 ID : 630680976349
Option 3 ID : 630680976348
Option 4 ID : 630680976350
Status : Answered
Chosen Option : A
Marks : 3

\ J

- —--4-""—— |
Q.176 In which stage of erythropoiesis does a cytoplasm become polychromatic?

Ans X A. Reticulocyte stage

" B. Intermediate normoblast stage
< C. Early normoblast stage

#< D. Pronormoblast stage

Question Type : MCQ
Question ID : 630680251596
Option 1 ID : 630680976390
Option 2 ID : 630680976389
Option 3 ID : 630680976388
Option 4 ID : 630680976387
Status : Answered
Chosen Option : C
Marks : O
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Option 1 1D : 630680456818
Option 2 ID : 630680456819
Option 3 1D : 630680456820
Option 4 1D : 630680456821
Status : Answered
Chosen Option : D
Marks : O

\ J

Q.178 Mr. Basavaraj Gowda, a patient, is planned for discharge tomorrow. Mr. Velayudhan
informed this to Mrs. Sangeeta, a nursing officer. In the process of communication, the role
of Mr. Velayudhan is that of a:

Ans X A receiver
/5 B.message
75 C. referent
«# D.sender

Question Type : MCQ
Question ID : 630680132070
Option 11D : 630680511456
Option 2 ID : 630680511457
Option 3 ID : 630680511454
Option 4 ID : 630680511455
Status : Answered
Chosen Option : D
Marks : 3

|
Q.179 Superantigens are the antigens that activate a large fraction of:

Ans " A Tcells
/< B. Beells
& C.IgA
& D.IgG

Question Type : MCQ
Question ID : 63068085135
Option 1 1D : 630680330044
Option 2 ID : 630680330045
Option 3 1D : 630680330047
Option 4 1D : 630680330046
Status : Answered
Chosen Option : A
Marks : 3
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Ans

Ans

Q.181 In February 2023, an Indian shooter

event at the ISSF Shooting World Cup at Cairo.
#< A. Udhayveer Sidhu

4" B. Rudrankksh Patil
/5 C. Bhowneesh Mendiratta

< D. Swapnil Kusale

XA provide registration for foreign nurses
«” B. improve the living and working conditions of nurses
£ C. prescribe curricula for nursing education

#5 D. promote the development of strong national associations

\

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
63068085371
630680330989
630680330990
630680330988
630680330991
Answered

D

3

won the gold medal in the 10 m air rifle individual

Question Type :
Question ID :
Option 11D :
Option2ID :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

MCQ
630680251508
630680976036
630680976037
630680976035
630680976038
Answered

A

0

- |
Q.182 The role of the Trained Nurses Association of India is to:

Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
63068085374
630680331002

: 630680331003

630680331001
630680331000
Answered

B

3
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Ans
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¥ A. adopt a suitable teaching technique and standard
& B. complete the course on time
< C. distribute study materials

< D. assess student performance

\

Question Type :

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :
Status :

Chosen Option :
Marks

MCQ
63068085400
630680331105
630680331104
630680331107
630680331106
Answered
A
03

admitted in the casualty ward with altered sensorium, dehydration and kussmaul breathing.

The first investigation to be done for this patient is:

#< A. complete hemogram and blood urea
#< B. liver function test and clotting time
< C.ECG and lipid profile

«# D. blood sugar and urine for acetone

Q.184 A known diabetic patient who has stopped taking insulin for the past three days has been

Question Type :
Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

MCQ
630680251597
630680976392
630680976394
630680976391
630680976393
Answered
D

Marks : 3

Ans

his contribution in the field of Science and Engineering.
& A. Ganesh Nagappa Krishnarajanagara

#< B. Mahendra Pal
#< C. Khadar Valli Dudekula

«# D. Srinivasa Varadhan

Q.185 was conferred with the Padma Vibhushan Award 2023 by the Government of India for

Question Type :
Question ID :
Option 11D :
Option 2 ID :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680251506
630680976029
630680976030
630680976028
630680976027
Answered

A

0
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Ans

Ans

stress?

" A. Acute stressors elicit a decrease in the markers of inflammation like IL-6.

& B. Acute stressors elicit a decrease in cellular immune response.

\

Question Type : MCQ
Question ID : 630680132071
Option 1 ID : 630680511460
Option 2 ID : 630680511461
Option 3 1D : 630680511458
Option 4 ID : 630680511459
Status : Answered
Chosen Option : B
Marks : O

Q.187 Which of the following statements is INCORRECT with respect to physiological responses to

X C. The Hypothalamo-Pituitary Axis (HPA) response to stress varies according to the nature

of stress.

£ D. Stressors of many kinds activate the noradrenergic system in the brain, most notably in

the locus coeruleus, and cause the release of catecholamines.

Question Type : MCQ
Question ID : 630680251573
Option 1 ID : 630680976298
Option 2 ID : 630680976297
Option 3 ID : 630680976296
Option 4 ID : 630680976295
Status : Answered
Chosen Option : A
Marks : 3

Q.188 A primigravida woman has delivered a male baby and is bleeding profusely after expulsion

of the placenta. The midwife’s diagnosis is PPH. What should be the midwife’s immediate

next step?
" A. Call for help

#5 B. Catheterisation of the bladder
£ C. Examining the expelled placenta

#< D. Massaging the uterus

Question Type : MCQ
Question ID : 630680146666
Option 1 ID : 630680567543
Option 2 ID : 630680567544
Option 3 ID : 630680567545
Option 4 ID : 630680567542
Status : Answered
Chosen Option : C
Marks : O
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Ans

#< A.Charaka
< B. Atreya
" C. Maharishi Patanjali

#< D. Sushruta

#< A Sterile Water, 100°F
#< B. Normal saline, 100°F
#5 C. Sterile water, 98.6°F

+” D. Normal saline, 98.6°F

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :
Marks :

630680134515
630680520880
630680520879
630680520878
630680520881
Answered

C

3

l__________________________________________________________________________________________________________________|
Q.190 Who among the following is popularly known as the Father of Yoga?

\

Question Type :
Question ID :
Option 11D :
Option 2 ID
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
630680218769
630680848985

: 630680848983

630680848984
630680848986
Answered

C

3

Q.191 Which of the following is the most commonly used irrigation solution and its temperature?

Question Type :
Question ID :
Option1 1D
Option2 1D :
Option 31D :
Option4 1D :

Status :

Chosen Option :

Marks :

MCQ
63068076192

: 630680294876

630680294873
630680294874
630680294875
Answered

D

3
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such that the corresponding letters when arranged accordingly will form a meaningful word.

112]3]4[|5]6|7
T|S|E|C|Y]|A]|S

Ans X A.6,4,2,1,37,5
< B.3,24,16,7,5
X C.3,4,26,175

& D.3,4,2,1,6,75

Question Type : MCQ
Question ID : 630680251518
Option 1 ID : 630680976076
Option 2 ID : 630680976077
Option 3 ID : 630680976075
Option 4 ID : 630680976078
Status : Answered
Chosen Option : B
Marks : O

Q.193 Which of the following is the drug of choice for treatment of OCD?
Ans X A Lithium

/< B. Diazepam
" C. Fluoxetine

#< D. Carbamazepine

Question Type : MCQ
Question ID : 630680116524
Option 1 ID : 630680451391
Option 2 ID : 630680451393
Option 3 ID : 630680451392
Option 4 ID : 630680451390
Status : Answered
Chosen Option : D
Marks : O

\

Q.194 The benefits of maternal administration of glucocorticoids in preterm labour is to:
Ans " A help in foetal lung maturation

#< B. maintain integrity of foetal membranes
< C. arrest the uterine contractions

#5 D. prevent foetal infections

Question Type : MCQ
Question ID : 630680135682
Option 1 1D : 630680525447
Option 2 ID : 630680525449
Option 3 ID : 630680525448
Option 4 ID : 630680525446
Status : Answered
Chosen Option : A

Marks : 3
L Dngp- B85




| -4 YY UTHILITHIVY Ul dlpiia diid=u ypoliil Tiay pictuUuliopguot a paltlit W

Ans X A emphysema
4 B. chronic obstructive pulmonary disease
5 C. bronchitis

£ D. pneumothorax

\

Question Type : MCQ
Question ID : 63068097428
Option 1 1D : 630680378406
Option 2 ID : 630680378404
Option 3 ID : 630680378405
Option 4 1D : 630680378407

Status : Answered

Chosen Option : A

Marks: O

Comprehension:

Read the given passage and answer the questions that follow.

Next door to the gymnasium was a small shed in which we were allowed to keep caterpillars. We
made boxes for them in the carpenter’s shop with glass fronts and air-holes; then we bought the
eggs or chrysalis from shops that sell such things. Richer boys bought rarer examples and when it
was time and this fantastic life came out, we were kept busy getting leaves to feed them, taking
care these were dry or they would fall sick and if they did, they died. Then, when they were ready
to become cocoons, we would be getting sawdust for some kinds, so they might spin their spittle
into sawdust tombs cemented hard. We never had lectures about them. They were pleasure
unalloyed. Again, they let us cut laurel up to mix with water in jam jars and this let off fumes to
gas any butterfly we caught. It was thought less cruel to use gas than to stick them on pins.

SubQuestion No : 196
Q.196 Where could they keep their caterpillars?
Ans X A.Inthe carpenter’s shop

#< B. In the gymnasium
" C. Inashed

#< D.Inahouse

Question Type : MCQ
Question ID : 630680132817
Option 11D : 630680514343
Option 2 ID : 630680514344
Option 3 1D : 630680514342
Option 4 ID : 630680514345

Status : Answered

Chosen Option : C

Marks : 3
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SubQuestion No ; 197
Q.197 What care had to be taken in feeding caterpillars?
Ans K' A. Leaves must be green

#< B. Leaves must be wet
«# C. Leaves must be dry

#5 D. Leaves must be soft

Question Type : MCQ
Question ID : 630680132819
Option 1 ID : 630680514351
Option 2 ID : 630680514353
Option 3 ID : 630680514352
Option 4 ID : 630680514350
Status : Answered
Chosen Option : C
Marks : 3

l__________________________________________________________________________________________________________________|
Comprehension:

Read the given passage and answer the questions that follow.

Next door to the gymnasium was a small shed in which we were allowed to keep caterpillars. We
made boxes for them in the carpenter’s shop with glass fronts and air-holes; then we bought the
eggs or chrysalis from shops that sell such things. Richer boys bought rarer examples and when it
was time and this fantastic life came out, we were kept busy getting leaves to feed them, taking
care these were dry or they would fall sick and if they did, they died. Then, when they were ready
to become cocoons, we would be getting sawdust for some kinds, so they might spin their spittle
into sawdust tombs cemented hard. We never had lectures about them. They were pleasure
unalloyed. Again, they let us cut laurel up to mix with water in jam jars and this let off fumes to
gas any butterfly we caught. It was thought less cruel to use gas than to stick them on pins.

SubQuestion No : 198
Q.198 What kinds of boxes were made for the caterpillars?
Ans X A. Wwith sawdust

#< B. With wood
< C. with cardboard

" D. With glass fronts and air-holes

Question Type : MCQ
Question ID : 630680132818
Option 1 ID : 630680514346
Option 2 ID : 630680514348
Option 3 ID : 630680514349
Option 4 1D : 630680514347
Status : Answered
Chosen Option : D
Marks : 3
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SubQuestion No : 199
Q.199 Do all the caterpillars need sawdust?
Ans " A. No; only those kinds which spin their spittle into sawdust tombs

#< B. No; only those kinds which spin their own cocoons
25 C. Noj; only those kinds which spin others cocoons

#5< D. No; only those kinds which make their own cocoons

Question Type : MCQ
Question ID : 630680132820
Option 11D : 630680514357
Option 2 ID : 630680514355
Option 3 ID : 630680514356
Option 4 ID : 630680514354
Status : Answered
Chosen Option : A
Marks : 3

Comprehension:

Read the given passage and answer the questions that follow.

Next door to the gymnasium was a small shed in which we were allowed to keep caterpillars. We
made boxes for them in the carpenter’s shop with glass fronts and air-holes; then we bought the
eggs or chrysalis from shops that sell such things. Richer boys bought rarer examples and when it
was time and this fantastic life came out, we were kept busy getting leaves to feed them, taking
care these were dry or they would fall sick and if they did, they died. Then, when they were ready
to become cocoons, we would be getting sawdust for some kinds, so they might spin their spittle
into sawdust tombs cemented hard. We never had lectures about them. They were pleasure
unalloyed. Again, they let us cut laurel up to mix with water in jam jars and this let off fumes to
gas any butterfly we caught. It was thought less cruel to use gas than to stick them on pins.

SubQuestion No : 200
Q.200 How did they gas the butterflies they caught?
Ans & A. By mixing cut laurel with water in jam jars

#5 B. By mixing water with sawdust
#5 C. By mixing sawdust with mud

#< D. By mixing chrysalis with water

Question Type : MCQ
Question ID : 630680132821
Option 11D : 630680514358
Option 2 ID : 630680514359
Option 3 ID : 630680514361
Option 4 ID : 630680514360
Status : Answered
Chosen Option : A
Marks : 3
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